£(x)=—0,1839x+ ¢

£(x)=—0,1839x+ ¢ ¥

LR 1 > LR 1 T
T 11
y‘\ yA
f(x)=0,047538 x%+ ¢* — 1 £(x)=0,047538 x2+ ¢* — 1
2T 2
17 11
Kf Kf
50> 3 2 4 1 500> 3 2 4 1
I1T S |
y‘\ yAL
Fx)=x =+ 210 f(x):x3——ex+2L0
10T 10T
57 51
3 X 34\
-1 1 2 3 X

21

£ (x)= x5 —9 5%+ 302346 x2+ 33 x— L2

22

.5 _gL4 3 4642 119
s f(x)=x"—9x"+30x°—46x"+ 33 x s
1 2 X 1 2 x
27T 21
f(x)=h(x)-p(x)=e** +% F(x)=h(x)-plx)=e2* X243




Dieses Werk ist lizenziert unter einer
Creative Commons Namensnennung 4.0 International Lizenz.
2020 Henrik Horstmann



http://creativecommons.org/licenses/by/4.0/
http://creativecommons.org/licenses/by/4.0/

